
Name: LösungsschlüsselVon der numerischen zur ausgeweiteten Form

Mathe www.CommonCoreSheets.de 1 1-10 93 87 80 73 67 60 53 47 40 33
11-15 27 20 13 7 0

Wandle jede Zahl in die ausgeweitete Form um.

Bsp) 973,5 9•100+7•10+3+(5•1⁄10)

1) 29,166 2•10+9+(1•1⁄10)+(6•1⁄100)+(6•1⁄1000)

2) 18,43 1•10+8+(4•1⁄10)+(3•1⁄100)

3) 8,598 8+(5•1⁄10)+(9•1⁄100)+(8•1⁄1000)

4) 5,498 5+(4•1⁄10)+(9•1⁄100)+(8•1⁄1000)

5) 67,4 6•10+7+(4•1⁄10)

6) 163,761 1•100+6•10+3+(7•1⁄10)+(6•1⁄100)+(1•1⁄1000)

7) 6,1 6+(1•1⁄10)

8) 91,193 9•10+1+(1•1⁄10)+(9•1⁄100)+(3•1⁄1000)

9) 193,4 1•100+9•10+3+(4•1⁄10)

10) 747,353 7•100+4•10+7+(3•1⁄10)+(5•1⁄100)+(3•1⁄1000)

11) 56,99 5•10+6+(9•1⁄10)+(9•1⁄100)

12) 83,597 8•10+3+(5•1⁄10)+(9•1⁄100)+(7•1⁄1000)

13) 7,7 7+(7•1⁄10)

14) 23,35 2•10+3+(3•1⁄10)+(5•1⁄100)

15) 98,668 9•10+8+(6•1⁄10)+(6•1⁄100)+(8•1⁄1000)
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